

					MS FIRE RATUS		ERICAN FIRE COMPANY, INC
Item No.	Equipment	Estimated Quantity	Unit	Unit Price	Total Amount	Unit Price	Total Amount
1	Flying Cross Male Nomex Dress Pants, Style # 98200 86, 6.5 oz. Twill Weave, 4 Pocket, Navy, Sizes 28-56 Regular	1800	Each	No Bid	No Bid	\$167.50	\$301,500.00
2	Flying Cross Male Nomex Dress Pants, Style # V98300, 6.5 oz. Twill Weave, 6 Pocket, Inset Cargo Pocket, Navy, Sizes 28-56 Regular	1800	Each	No Bid	No Bid	\$207.50	\$373,500.00
3	Flying Cross Female Nomex Dress Pants, Style # 98200W, 6.5 oz. Twill Weave, 4 Pocket, Navy, Sizes 8 -26 Regular	600	Each	No Bid	No Bid	\$167.50	\$100,500.00
4	Flying Cross Female Nomex Dress Pants, Style # V98300W, 6.5 oz. Twill Weave, 6 Pocket, Inset Cargo Pocket, Navy, Sizes 8 -26 Regular	600	Each	No Bid	No Bid	\$207.50	\$124,500.00
5	Flying Cross Male Nomex Long Sleeve Shirt, Style # 9820, 4.5 oz. Tropical Weave, 7 Button Front, Concealed Snaps, Military Sewn Crease, Navy, Sizes Sm to 4XL, Sleeve Length Reg, Short, Long, XLong	1800	Each	No Bid	No Bid	\$190.50	\$342,900.00
6	Flying Cross Male Nomex Short Sleeve Shirt, Style # 9800, 4.5 oz. Tropical Weave, 7 Button Front, Concealed Snaps, Military Sewn Crease, Navy, Sizes Sm to 4XL	1800	Each	No Bid	No Bid	\$165.48	\$297,864.00
7	Flying Cross Female Nomex Long Sleeve Shirt, Style # 9830, 4.5 oz. Tropical Weave, 7 Button Front, Concealed Snaps, Military Sewn Crease, Navy, Bust 30 to 54, Sleeve Length Regular and Long	600	Each	No Bid	No Bid	\$190.50	\$114,300.00
8	Flying Cross Female Nomex Short Sleeve Shirt, Style # 9810, 4.5 oz. Tropical Weave, 7 Button Front, Concealed Snaps, Military Sewn Crease, Navy, Bust 28 to 52	600	Each	No Bid	No Bid	\$165.48	\$99,288.00
9	Flying Cross Cross FR - TecaSafe Men's Button Front Woven Shirt Style # 8200 Short Sleeve, 5.8 oz. Twill, Sizes Small through 3XL, LAPD Navy	1800	Each	No Bid	No Bid	\$100.89	\$181,602.00
10	Flying Cross Cross FR - TecaSafe Men's Button Front Woven Shirt Style # 8220 Long Sleeve, 5.8 oz. Twill, Sizes Small through 3XL, LAPD Navy	900	Each	No Bid	No Bid	\$115.52	\$103,968.00
	Flying Cross Cross FR - TecaSafe Women's Button Front Woven Shirt Style # 8200W Short Sleeve, 5.8 oz. Twill, Bust Sizes 32 through 52, LAPD Navy	600	Each	No Bid	No Bid	\$100.89	\$60,534.00



	BID TABULATI				MS FIRE RATUS		ERICAN FIRE COMPANY, INC
Item No.	Equipment	Estimated Quantity	Unit	Unit Price	Total Amount	Unit Price	Total Amount
12	Flying Cross Cross FR - TecaSafe Women's Button Front Woven Shirt Style # 8220W Long Sleeve, 5.8 oz. Twill, Bust Sizes 32 through 52, LAPD Navy	600	Each	No Bid	No Bid	\$115.52	\$69,312.00
13	Flying Cross Cross FR - TecaSafe Men's 4 Pocket Cross FR Pants, Style# 87200 7.0 oz. Twill, Regular, Waist Sizes 28 through 56, LAPD Navy	1000	Each	No Bid	No Bid	\$113.75	\$113,750.00
14	Flying Cross Cross FR - TecaSafe Men's 6 Pocket Cross FR Pants, Style# 87300 7.0 oz. Twill, Regular, Waist Sizes 28 through 56, LAPD Navy	1000	Each	No Bid	No Bid	\$126.97	\$126,970.00
15	Flying Cross Cross FR - TecaSafe Women's 4 Pocket Cross FR Pants, Style# 87200W 7.0 oz. Twill, Regular, Waist Sizes 02 through 22, LAPD Navy	300	Each	No Bid	No Bid	\$113.75	\$34,125.00
16	Flying Cross Cross FR - TecaSafe Women's 6 Pocket Cross FR Pants, Style# 87300W 7.0 oz. Twill, Regular, Waist Sizes 02 through 22, LAPD Navy	300	Each	No Bid	No Bid	\$126.97	\$38,091.00
17	Flying Cross Cross FR - TecaSafe Casual Duty Polo Shirt, Style# 8500, Short Sleeve, Sizes XSmall through 5XL, LAPD Navy	2000	Each	No Bid	No Bid	\$98.12	\$196,240.00
18	Flying Cross Cross FR - TecaSafe Casual Duty Polo Shirt, Style# 8500LS, Long Sleeve, Sizes Medium through 5XL, LAPD Navy	1000	Each	No Bid	No Bid	No Bid	No Bid
19	Flying Cross Cross FR - TecaSafe Performance FR T Shirt, Style# 8700, Short Sleeve, Sizes Small through 5XL, LAPD Navy	2600	Each	No Bid	No Bid	\$50.25	\$130,650.00
20	Flying Cross Half Zip Job Shirt, Style# 53000, Regular, Sizes XSmall through 5XL, LAPD Navy	800	Each	No Bid	No Bid	\$70.53	\$56,424.00
21	Flying Cross Half Zip Job Shirt, Style# 53000, Long, Sizes XSmall through 5XL, LAPD Navy	200	Each	No Bid	No Bid	\$70.53	\$14,106.00
22	Flying Cross FX STAT Men's Class B Shirt, Style# FX7100, Short Sleeve, Sizes XSmall through 6XL, LAPD Navy	100	Each	No Bid	No Bid	\$68.94	\$6,894.00
23	Flying Cross FX STAT Men's Class B Shirt, Style# FX7120, Long Sleeve, Sizes XSmall through 6XL, LAPD Navy	100	Each	No Bid	No Bid	\$71.24	\$7,124.00
24	Flying Cross FX STAT Women's Class B Shirt, Style# FX7100W, Short Sleeve, Bust 30 through 52, LAPD Navy	100	Each	No Bid	No Bid	\$68.94	\$6,894.00
25	Flying Cross FX STAT Women's Class B Shirt, Style# FX7120W, Long Sleeve, Bust 30 through 52, LAPD Navy	100	Each	No Bid	No Bid	\$71.24	\$7,124.00
26	Flying Cross FX STAT Men's Class B Pant, Style# FX77300, Short, Sizes 28 through 60, LAPD Navy	25	Each	No Bid	No Bid	\$55.85	\$1,396.25
27	Flying Cross FX STAT Men's Class B Pant, Style# FX77300, Regular, Sizes 28 through 60, LAPD Navy	50	Each	No Bid	No Bid	\$55.85	\$2,792.50



				WILLIAMS FIRE APPARATUS		NORTH AMERICAN FIR EQUIPMENT COMPANY, I	
Item No.	Equipment	Estimated Quantity	Unit	Unit Price	Total Amount	Unit Price	Total Amount
28	Flying Cross FX STAT Men's Class B 4 Pocket Pant, Style# FX77200, Short, Sizes 28 through 60, LAPD Navy	25	Each	No Bid	No Bid	\$51.45	\$1,286.25
29	Flying Cross FX STAT Men's Class B 4 Pocket Pant, Style# FX77200, Regular, Sizes 28 through 60, LAPD Navy	50	Each	No Bid	No Bid	\$51.45	\$2,572.50
30	Flying Cross FX STAT Women's Class B Pant, Style# FX77400W sizes 2-28 LAPD Navy	60	Each	No Bid	No Bid	\$57.80	\$3,468.00
31	Flying Cross FX STAT Women's Class B 4 Pocket Pant, Style# FX77200W, Regular, Sizes 02 through 28, LAPD Navy	50	Each	No Bid	No Bid	\$51.45	\$2,572.50
32	Flying Cross Male Pants Style F1 #FX57400; Short, Sizes 28 through 60 LAPD NAVY	60	Each	No Bid	No Bid	\$57.80	\$3,468.00
33	Propper I.C.E. Men's Performance Polo Short Sleeve Shirt, Style # F5341, 6.8 oz., 94% polyester, 6% spandex, Sizes XS to XL, all colors, no substitute. (Shirt Only)	200	Each	No Bid	No Bid	\$48.36	\$9,672.00
34	Propper I.C.E. Men's Performance Polo Short Sleeve Shirt, Style # F5341, 6.8 oz., 94% polyester, 6% spandex, Sizes 2XL to 3XL, all colors, no substitute.	200	Each	No Bid	No Bid	\$48.36	\$9,672.00
35	Propper I.C.E. Men's Performance Polo Short Sleeve Shirt, Style # F5341, 6.8 oz., 94% polyester, 6% spandex, Sizes 4XL to 8XL, all colors, no substitute.	50	Each	No Bid	No Bid	\$48.36	\$2,418.00
36	Propper I.C.E. Men's Performance Polo Long Sleeve Shirt, Style # F5315, 6.8 oz., 94% polyester, 6% spandex, Sizes XS to XL, all colors, no substitute.	100	Each	No Bid	No Bid	\$51.93	\$5,193.00
37	Propper I.C.E. Men's Performance Polo Long Sleeve Shirt, Style # F5315, 6.8 oz., 94% polyester, 6% spandex, Sizes 2XL to 3XL, all colors, no substitute.	100	Each	No Bid	No Bid	\$51.93	\$5,193.00
38	Propper I.C.E. Men's Performance Polo Long Sleeve Shirt, Style # F5315, 6.8 oz., 94% polyester, 6% spandex, Sizes 4XL to 8XL, all colors, no substitute.	50	Each	No Bid	No Bid	\$51.93	\$2,596.50
39	Propper I.C.E. Women's Performance Polo Short Sleeve Shirt, Style # F5327, 6.8 oz., 94% polyester, 6% spandex, Sizes XS to XL, all colors, no substitute.	100	Each	No Bid	No Bid	\$48.36	\$4,836.00
40	Propper I.C.E. Women's Performance Polo Short Sleeve Shirt, Style # F5327, 6.8 oz., 94% polyester, 6% spandex, Sizes 2XL to 3XL, all colors, no substitute.	100	Each	No Bid	No Bid	\$48.36	\$4,836.00
41	Propper I.C.E. Women's Performance Polo Short Sleeve Shirt, Style # F5327, 6.8 oz., 94% polyester, 6% spandex, Sizes 4XL to 8XL, all colors, no substitute.	50	Each	No Bid	No Bid	\$48.36	\$2,418.00



					MS FIRE RATUS		ERICAN FIRE COMPANY, INC
Item No.	Equipment	Estimated Quantity	Unit	Unit Price	Total Amount	Unit Price	Total Amount
42	Propper I.C.E. Women's Performance Polo Long Sleeve Shirt, Style # F5357, 6.8 oz., 94% polyester, 6% spandex, Sizes XS to XL, all colors, no substitute.	100	Each	No Bid	No Bid	\$51.93	\$5,193.00
43	Propper I.C.E. Women's Performance Polo Long Sleeve Shirt, Style # F5357, 6.8 oz., 94% polyester, 6% spandex, Sizes 2XL to 3XL, all colors, no substitute.	100	Each	No Bid	No Bid	\$51.93	\$5,193.00
44	Propper I.C.E. Women's Performance Polo Long Sleeve Shirt, Style # F5357, 6.8 oz., 94% polyester, 6% spandex, Sizes 4XL to 8XL, all colors, no substitute.	50	Each	No Bid	No Bid	\$51.93	\$2,596.50
45	Gildan short sleeve T shirt, Style #G200, 100% cotton. Colors: Navy and Red. Sizes: S – XL, in accordance with minimum specifications, or Comparable. Description of Substitute:	800	Each	No Bid	No Bid	\$11.80	\$9,440.00
46	Gildan short sleeve T shirt, Style #G200, 100% cotton. Colors: Navy and Red. Sizes: 2XL-3XL, in accordance with minimum specifications, or Comparable. Description of Substitute:	300	Each	No Bid	No Bid	\$15.71	\$4,713.00
47	Gildan short sleeve T shirt, Style #G200, 100% cotton. Colors: Navy and Red. Sizes: 4XL-5XL, in accordance with minimum specifications, or Comparable. Description of Substitute:	100	Each	No Bid	No Bid	\$18.97	\$1,897.00
48	Gildan long sleeve T shirt, Style #G240, 100% cotton. Colors: Navy and Red. Sizes: S-XL,, in accordance with minimum specifications, or Comparable. Description of Substitute:	100	Each	No Bid	No Bid	\$15.71	\$1,571.00
49	Gildan long sleeve T shirt, Style #G240, 100% cotton. Colors: Navy and Red. Sizes: 2XL-3XL, in accordance with minimum specifications, or Comparable. Description of Substitute:	150	Each	No Bid	No Bid	\$18.97	\$2,845.50
50	Gildan long sleeve T shirt, Style #G240, 100% cotton. Colors: Navy and Red. Sizes: 4XL-5XL, in accordance with minimum specifications, or Comparable. Description of Substitute:	100	Each	No Bid	No Bid	\$21.51	\$2,151.00
51	Gildan sweatshirt, Style #G180, 50% cotton/50% polyester, Size: S – XL, in accordance with minimum specifications, Color: Red, Navy, Heather Grey or Comparable. Description of Substitute:	100	Each	No Bid	No Bid	\$17.21	\$1,721.00
52	Gildan sweatshirt, Style #G180, 50% cotton/50% polyester, Size: 2XL-3XL, in accordance with minimum specifications, Color: Red, Navy, Heather Grey or Comparable. Description of Substitute:	100	Each	No Bid	No Bid	\$22.85	\$2,285.00



	BID TABULATION				MS FIRE RATUS	NORTH AMERICAN FIRE EQUIPMENT COMPANY, IN	
Item No.	Equipment	Estimated Quantity	Unit	Unit Price	Total Amount	Unit Price	Total Amount
53	Gildan sweatshirt, Style #G180, 50% cotton/50% polyester, Size: 4XL- 5XL, in accordance with minimum specifications, Color: Red, Navy, Heather Grey or Comparable. Description of Substitute:	50	Each	No Bid	No Bid	\$23.75	\$1,187.50
54	Champion athletic shorts, Style #8187, 100% cotton, Sizes: S – XL, Color: Navy, or Comparable. Description of Substitute:	500	Each	No Bid	No Bid	\$12.07	\$6,035.00
55	Champion athletic shorts, Style #8187, 100% cotton, Sizes: 2XL-3XL, Color: Navy, or Comparable. Description of Substitute:	150	Each	No Bid	No Bid	\$15.05	\$2,257.50
56	Russell Sweatpants, Style #696HBMO, 50% cotton/ 50%polyester, Size: S-XL, Color: Navy, or Comparable Description of Substitute:	500	Each	No Bid	No Bid	\$18.38	\$9,190.00
57	Russell Sweatpants, Style #696HBMO, 50% cotton/ 50%polyester, Size: 2XL, Color: Navy, or Comparable Description of Substitute:	100	Each	No Bid	No Bid	\$20.34	\$2,034.00
58	Russell Sweatpants, Style #696HBMO, 50% cotton/ 50%polyester, Size: 3XL, Color: Navy, or Comparable Description of Substitute:	50	Each	No Bid	No Bid	\$21.17	\$1,058.50
59	Otto Navy Mesh Back Trucker Cap Navy #83-1239 or Comparable Description of Substitute:	200	Each	No Bid	No Bid	\$15.42	\$3,084.00
60	Gildan Green or Heather Grey Recruit Polo G880; 50/50 6 ounces S, M, L, XL or Comparable Description of Substitute:	150	Each	No Bid	No Bid	\$16.91	\$2,536.50
61	Gildan Green or Heather Grey Recruit Polo G880; 50/50 6 ounces 2XL - 4XL or Comparable Description of Substitute:	80	Each	No Bid	No Bid	\$21.42	\$1,713.60
62	Fruit of the Loom short sleeve T-shirt, Style #3931, 100% cotton or comparable. Sizes: S – XL, in accordance with minimum specifications, Color: Kiwi or lime green or neon or Heather Grey or Comparable Description of Substitute:	800	Each	No Bid	No Bid	\$11.77	\$9,416.00
63	Fruit of the Loom short sleeve T-shirt, Style #3931, 100% cotton. Sizes: 2XL-4XL, in accordance with minimum specifications, Color: Kiwi, or lime green or neon or Heather Grey or Comparable. Description of Substitute:	300	Each	No Bid	No Bid	\$14.28	\$4,284.00
64	Fruit of the Loom short sleeve T-shirt, Style #3931, 100% cotton. Sizes: 5XL-6XL, in accordance with minimum specifications, Color: Kiwi, or lime green or neon or Heather Grey or Comparable. Description of Substitute:	60	Each	No Bid	No Bid	\$14.28	\$856.80



	BID TABULATION				MS FIRE RATUS		ERICAN FIRE COMPANY, INC
Item No.	Equipment	Estimated Quantity	Unit	Unit Price	Total Amount	Unit Price	Total Amount
65	Fruit of the Loom long sleeve T-shirt, Style #4930, 100% cotton, Sizes: S – XL, in accordance with minimum specifications, Color:Kiwi, or lime green or neon or Heather Grey or Comparable. Description of Substitute:	800	Each	No Bid	No Bid	\$14.72	\$11,776.00
66	Fruit of the Loom long sleeve T-shirt, Style #4930, 100% cotton, Sizes: 2XL-4XL, in accordance with minimum specifications, Color: Kiwi, or lime green or neon or Heather Grey or Comparable. Description of Substitute:	300	Each	No Bid	No Bid	\$17.00	\$5,100.00
67	Fruit of the Loom long sleeve T-shirt, Style #4930, 100% cotton, Sizes: 5XL-6XL, in accordance with minimum specifications, Color: Kiwi, Kiwi, or lime green or neon or Heather Grey or Comparable. Description of Substitute:	60	Each	No Bid	No Bid	\$17.52	\$1,051.20
68	Cornerstone, Style #CS410, Men's short sleeve golf shirt, Sizes: S – XL, in accordance with minimum specifications, Navy, Black, Charcoal, Light Grey, Tan, Red, Royal, Tactical Green, no substitutes. (Shirt Only)	100	Each	No Bid	No Bid	\$23.43	\$2,343.00
69	Cornerstone, Style #CS410, Men's short sleeve golf shirt, Sizes: 2XL- 3XL, in accordance with minimum specifications, Navy, Black, Charcoal, Light Grey, Tan, Red, Royal, Tactical Green, no substitutes. (Shirt Only)	100	Each	No Bid	No Bid	\$24.67	\$2,467.00
70	Cornerstone, Style #CS410, Men's short sleeve golf shirt, Sizes: 4XL, in accordance with minimum specifications, Navy, Black, Charcoal, Light Grey, Tan, Red, Royal, Tactical Green, no substitutes. (Shirt Only)	20	Each	No Bid	No Bid	\$27.98	\$559.60
71	Cornerstone, Style #CS410LS, Men's long sleeve golf shirt, Sizes: S – XL, in accordance with minimum specifications, Navy, Black, Charcoal, Light Grey, Tan, Red, Royal, Tactical Green, no substitutes. (Shirt Only)	100	Each	No Bid	No Bid	\$28.15	\$2,815.00
72	Cornerstone, Style #CS410LS, Men's long sleeve golf shirt, Sizes: 2XL-3XL, in accordance with minimum specifications, Navy, Black, Charcoal, Light Grey, Tan, Red, Royal, Tactical Green, no substitutes. (Shirt Only)	100	Each	No Bid	No Bid	\$30.55	\$3,055.00
73	Cornerstone, Style #CS410LS, Men's long sleeve golf shirt, Sizes: 4XL, in accordance with minimum specifications, Navy, Black, Charcoal, Light Grey, Tan, Red, Royal, Tactical Green, no substitutes. (Shirt Only)	20	Each	No Bid	No Bid	\$31.98	\$639.60
74	Cornerstone, Style #CS411, Women's short sleeve golf shirt, Sizes: S – XL, in accordance with minimum specifications, Navy, Black, Charcoal, Royal, no substitutes. (Shirt Only)	100	Each	No Bid	No Bid	\$23.43	\$2,343.00



	DID TABULAT	ION			MS FIRE RATUS		ERICAN FIRE COMPANY, INC
Item No.	Equipment	Estimated Quantity	Unit	Unit Price	Total Amount	Unit Price	Total Amount
75	Cornerstone, Style #CS411, Women's short sleeve golf shirt, Sizes: 2XL-3XL, in accordance with minimum specifications, Navy, Black, Charcoal, Royal, no substitutes. (Shirt Only)	75	Each	No Bid	No Bid	\$24.67	\$1,850.25
76	Cornerstone, Style #CS411, Women's short sleeve golf shirt, Sizes: 4XL, in accordance with minimum specifications, Navy, Black, Charcoal, Royal, no substitutes. (Shirt Only)	25	Each	No Bid	No Bid	\$27.98	\$699.50
77	Cornerstone, Shirts - embroidery 2 lines	300	Each	No Bid	No Bid	\$14.28	\$4,284.00
78	Cornerstone, Shirts embroidery patch	300	Each	No Bid	No Bid		
79	HAIX Black Eagle Tactical 2.0 GTX Low; FX106, #340001M; Sizes 4-16, Medium and Wide-E	100	Each	No Bid	No Bid	\$176.71	\$17,671.00
80	Haix XR2 Station Boot, Style # 605118, Men's sizes 5-15 whole and half sizes, medium, wide, and extra wide, no exceptions.	400	Each	No Bid	No Bid	\$327.89	\$131,156.00
81	Haix XR2 Station Boot, Style # 605119, Women's sizes 5- 10 whole and half sizes, medium and wide, no exceptions.	100	Each	No Bid	No Bid	\$327.89	\$32,789.00
82	Propper BDUs. Style #5201-38, Battle Rip 65% Polyester/35% Cotton ripstop. Sizes: S – L, Short. Colors: Black, Khaki, Dark Grey, Dark Navy, Grey, Olive,	100	Each	No Bid	No Bid	\$31.30	\$3,130.00
83	Propper BDUs. Style #5201-38, Battle Rip 65% Polyester/35% Cotton ripstop. Sizes: XS – 4XL, Regular. Colors: Black, Khaki, Dark Grey, Dark Navy, Grey or Olive,	100	Each	No Bid	No Bid	\$31.30	\$3,130.00
84	Propper BDUs. Style #5201-38, Battle Rip 65% Polyester/35% Cotton ripstop. Sizes: S – 3XL, Long. Colors: Black, Khaki, Dark Grey, Dark Navy, Grey or Olive,	100	Each	No Bid	No Bid	\$31.30	\$3,130.00
85	Propper BDUs. Style #5201-12, Twill 60% Cotton/40% Polyester. Sizes: S –L, Short. Colors: Black, Khaki, Dark Navy or Olive, no substitutes.	600	Each	No Bid	No Bid	\$30.56	\$18,336.00
86	Propper BDUs. Style #5201-12, Twill 60% Cotton/40% Polyester. Sizes: XS – 4XL, Regular. Colors: Black, Khaki, Dark Navy or Olive, no substitutes.	600	Each	No Bid	No Bid	\$30.56	\$18,336.00
87	Propper BDUs. Style #5201-12, Twill 60% Cotton/40% Polyester. Sizes: S – 3XL, Long. Colors: Black, Khaki, Dark Navy or Olive, no substitutes.	300	Each	No Bid	No Bid	\$30.56	\$9,168.00
88	Tru-Spec, 24/7 Series tactical pants. Men's, Style #1060, 1061, 1062, 1063, 1064, 1065, 1066, 1079. Sizes: Waist 28 – 44, length 30 – 34 and un-hemmed, no substitutes.	100	Each	No Bid	No Bid	\$44.45	\$4,445.00



	BID TABULAT	ION		WILLIAMS FIRE APPARATUS			ERICAN FIRE COMPANY, INC
Item No.	Equipment	Estimated Quantity	Unit	Unit Price	Total Amount	Unit Price	Total Amount
89	Tru-Spec, 24/7 Series tactical pants. Women's, Style #1096, 1097, 1095, 1099. Sizes: 0 – 24, un-hemmed, no substitutes.	100	Each	No Bid	No Bid	\$44.45	\$4,445.00
90	Vertex Delta Stretch 2.1 Pant, Style # 1702, #1703 Waist Sizes 30 to 44, Inseam Sizes 30 to 36. Colors: All	200	Each	No Bid	No Bid	\$72.04	\$14,408.00
91	Flying Cross Poly/Wool Acrylic Blend V-Neck Sweater Black w/bonded Micro Style F1-79010-1225688	30	Each	No Bid	No Bid	\$101.40	\$3,042.00
92	HCO Big Accessories Canvas Outlander Boonie hat 100% 2 ½" Brim; Fine mesh brass eyelets; Side snaps to wear brim up or down; Chin strap with adjustable cord lock; Sizes: One Size Fits All	700	Each	No Bid	No Bid	\$19.49	\$13,643.00
93	Flying Cross Men's Double Breasted Dress Coat, Style# 17B8696C, Sizes: 34 – 46, Length: Regular, Color: MC/NO, in accordance with minimum specifications, no substitutes.	30	Each	No Bid	No Bid	\$415.00	\$12,450.00
94	Flying Cross Men's Double Breasted Dress Coat, Style# 17B8696C, Sizes: 48 – 54, Length: Regular, Color: MC/NO, in accordance with minimum specifications, no substitutes.	30	Each	No Bid	No Bid	\$415.00	\$12,450.00
95	Flying Cross Men's Double Breasted Dress Coat, Style# 17B8696C, Sizes: 36 – 46, Length: Short, Color: MC/NO, in accordance with minimum specifications, no substitutes.	30	Each	No Bid	No Bid	\$415.00	\$12,450.00
96	Flying Cross Men's Double Breasted Dress Coat, Style# 17B8696C, Sizes: 48 – 50, Length: Short, Color: MC/NO, in accordance with minimum specifications, no substitutes.	30	Each	No Bid	No Bid	\$415.00	\$12,450.00
97	Flying Cross Men's Double Breasted Dress Coat, Style# 17B8696C, Sizes: 38 – 46, Length: Long, Color: MC/NO, in accordance with minimum specifications, no substitutes.	30	Each	No Bid	No Bid	\$415.00	\$12,450.00
98	Flying Cross Men's Double Breasted Dress Coat, Style# 17B8696C, Sizes: 48 – 54, Length: Long, Color: MC/NO, in accordance with minimum specifications, no substitutes.	30	Each	No Bid	No Bid	\$415.00	\$12,450.00
99	Flying Cross Men's Double Breasted Dress Coat, Style# 17B8696C, Sizes: 56 – 60, Length: Long, Color: MC/NO, in accordance with minimum specifications, no substitutes.	30	Each	No Bid	No Bid	\$415.00	\$12,450.00
100	Flying Cross Uniform Men's Dress Trousers, Style# FCTRO1, Sizes: 28 - 44, Color: MC/NO, no substitutes.	500	Each	No Bid	No Bid	\$142.00	\$71,000.00
101	Flying Cross Uniform Men's Dress Trousers, Style# FCTRO1, Sizes: 46 - 50, Color: MC/NO, no substitutes.	100	Each	No Bid	No Bid	\$142.00	\$14,200.00
102	Flying Cross Uniform Men's Dress Trousers, Style# FCTRO1, Sizes: 52 - 54, Color: Black / MC/NO, no substitutes.	50	Each	No Bid	No Bid	\$142.00	\$7,100.00



				WILLIAMS FIRE APPARATUS		NORTH AMERICAN FIRE EQUIPMENT COMPANY, IT	
Item No.	Equipment	Estimated Quantity	Unit	Unit Price	Total Amount	Unit Price	Total Amount
103	Flying Cross Women's, Single breasted Class A Coat, Style #4800SDC. Petite, Sizes: 6-24. Color: MC / NO, no substitutes.	30	Each	No Bid	No Bid	\$464.00	\$13,920.00
104	Flying Cross Women's, Single breasted Class A Coat, Style #4800SDC. Regular, Sizes: 6-24. Color: MC / NO, no substitutes.	30	Each	No Bid	No Bid	\$464.00	\$13,920.00
105	Flying Cross Women's, Single breasted Class A Coat, Style #4800SDC. Tall, Sizes: 6-24. Color: MC / NO, no substitutes.	30	Each	No Bid	No Bid	\$464.00	\$13,920.00
106	Flying Cross Women's Dress Trousers, Style# 4800S, Petite Sizes: 2 - 24, Color: MC/NO, no substitutes.	100	Each	No Bid	No Bid	\$127.00	\$12,700.00
107	Flying Cross Women's Dress Trousers, Style# 4800S, Regular Sizes: 2 - 24, Color: MC/NO, no substitutes.	100	Each	No Bid	No Bid	\$127.00	\$12,700.00
108	Flying Cross Women's Dress Trousers, Style# 4800S, Tall Sizes: 2 - 24, Color: MC/NO, no substitutes.	50	Each	No Bid	No Bid	\$127.00	\$6,350.00
109	Flying Cross Women's Dress Skirt, Style# 4800SK, Petite Sizes: 2 - 24, Color: MC/NO, no substitutes.	50	Each	No Bid	No Bid	\$118.00	\$5,900.00
110	Flying Cross Women's Dress Skirt, Style# 4800SK, Regular Sizes: 2 - 24, Color: MC/NO, no substitutes.	50	Each	No Bid	No Bid	\$118.00	\$5,900.00
111	Flying Cross Women's Dress Skirt, Style# 4800SK, Tall Sizes: 2 - 24, Color: MC/NO, no substitutes.	30	Each	No Bid	No Bid	\$118.00	\$3,540.00
112	Flying Cross Dress shirt, Style # 85R54, Men's Shirt, DuroPoplin 65% Polyester 35% Cotton, short sleeve, Sizes: 14/14.5 – 22/22.5 Color: White, in accordance with minimum specifications, no substitute.	500	Each	No Bid	No Bid	\$40.59	\$20,295.00
113	Flying Cross Dress shirt, Style # 35W54, Men's Shirt, DuroPoplin 65% Polyester 35% Cotton, long sleeve, Sizes: 14/14.5 – 22/22.5, Sleeve 32/33, 34/35, 36/37 Color: White, in accordance with minimum specifications, no substitute.	500	Each	No Bid	No Bid	\$46.26	\$23,130.00
114	Flying Cross Dress shirt, Style # X1 645W6500, Men's Shirt, 65% Polyester 35% Rayon, short sleeve, Sizes: 14/14.5 – 18.5 Color: White, in accordance with minimum specifications, no substitute.	500	Each	No Bid	No Bid	\$53.23	\$26,615.00
115	Flying Cross Dress shirt, Style # X1 345W6500, Men's Shirt, 65% Polyester 35% Rayon, long sleeve, Sizes: 14/14.5 – 18.5, Sleeve 32/33, 34/35, 36/37 Color: White, in accordance with minimum specifications, no substitute.	500	Each	No Bid	No Bid	\$58.84	\$29,420.00



	DID TABULATION			WILLIAMS FIRE APPARATUS		NORTH AMERICAN FIRE EQUIPMENT COMPANY, INC	
Item No.	Equipment	Estimated Quantity	Unit	Unit Price	Total Amount	Unit Price	Total Amount
116	Flying Cross Dress shirt, Style # 176R54, Women's Shirt, DuroPoplin 65% Polyester 35% Cotton, short sleeve, Bust Sizes: 30 - 52 Color: White, in accordance with minimum specifications, no substitute.	100	Each	No Bid	No Bid	\$41.15	\$4,115.00
117	Flying Cross Dress shirt, Style # 126R54, Women's Shirt, DuroPoplin 65% Polyester 35% Cotton, long sleeve, Bust Sizes: 30 - 52, Sleeve Regular and Long Color: White, in accordance with minimum specifications, no substitute.	100	Each	No Bid	No Bid	\$46.26	\$4,626.00
118	Samuel Broome Dress Cap, Bell Crown, Style# C139C, C139D, C139E, White Vinyl top, haircloth side stiffening and closed winter frame bands, band covering of black velvet, ½" wide gold bullion strap, gold FD strap buttons, visor shall be HF-29. Sizes: 6 ½ - 7 ¾, no substitutes	10	Each	No Bid	No Bid	\$130.00	\$1,300.00
119	Samuel Broome Dress Cap, Bell Crown, Style# C139B, White Vinyl top, haircloth side stiffening and closed winter frame bands, band covering of black velvet, ½" wide gold bullion strap, gold FD strap buttons, visor shall be GB-19. Sizes: 6 ½ - 7 ¾, no substitutes	20	Each	No Bid	No Bid	\$101.40	\$2,028.00
120	Samuel Broome Dress Cap, Bell Crown, Style# C139A, black Rayon top, haircloth side stiffening and closed winter frame bands, band covering of black Mohair or Rayon, ½" wide gold bullion strap, gold FD strap buttons, visor shall be black patent leather 2 1/8". Sizes: 6 ½ - 7 ¾, no substitutes.	100	Each	No Bid	No Bid	\$92.60	\$9,260.00
121	Samuel Broome Necktie with Buttonholes, Style# 45140, 75% Polyester 25% wool, Sizes: 3.5" X 57", Colors: Dark Navy or Black, no substitutes.	300	Each	No Bid	No Bid	\$6.50	\$1,950.00
122	Samuel Broome Necktie with Buttonholes, Style# 45160, 75% Polyester 25% wool, Sizes: 3.5" X 61", Colors: Dark Navy or Black, no substitutes.	300	Each	No Bid	No Bid	\$6.75	\$2,025.00
123	Samuel Broome Women's Crossover Tie with Covered Snap, Style# 45165, 75% Polyester 25% wool, Sizes: Adjustable up to 23", Colors: Dark Navy or Black, no substitutes.	100	Each	No Bid	No Bid	\$5.25	\$525.00
124	Boston Leather Strap Clarino S-XL Item# 6511-2-GLD	1	Each	No Bid	No Bid	\$71.48	\$71.48
125	Garrison Basketweave 1 3/4" Belt, Style# 1621T, Sizes: 26 – 60, Color: Black with Gold Buckle, no substitutes.	500	Each	No Bid	No Bid	\$29.50	\$14,750.00
126	Metal Logo belt buckle with eagle size 2.75"	300	Each	No Bid	No Bid	No Bid	No Bid
127	Boston Leather Belt Clarine Up to44 Item# 6501-2-GLD	20	Each	No Bid	No Bid	\$74.93	\$1,498.60
128	Altama Men's High Gloss Shoe #608101, Sizes Regular and Wide Width: 5-15	500	Each	No Bid	No Bid	\$125.00	\$62,500.00



	BID TABULA				MS FIRE RATUS		
Item No.	Equipment	Estimated Quantity	Unit	Unit Price	Total Amount	Unit Price	Total Amount
129	Bates Ladies Hi Gloss Oxford Shoe, Style # 7842, Sizes 4- 10, 11, 12, Narrow, Medium, and Wide.	50	Each	No Bid	No Bid	\$83.00	\$4,150.00
129	Gildan 50/50 6 oz Blended Polo Kelly Green #G880; Sizes XS-XL	80	Each	No Bid	No Bid	\$27.15	\$2,172.00
130	Gildan 50/50 6 oz Blended Polo Kelly Green #G880; Sizes 3XL	20	Each	No Bid	No Bid	\$30.75	\$615.00
131	FC Honor Guard Coat Black P/W Install (10) gold FD buttons Install Honor Guard emblem LS & RS Install cordedge on fronts Install cordedge on epaulets Install cordedge on chevron sleeve Item#1989996C	20	Each	No Bid	No Bid	\$786.15	\$15,723.00
132	FC Honor Guard Pant Black P/W Install 1" stripe on side seams Hem pant to length	20	Each	No Bid	No Bid	\$151.54	\$3,030.80
133	FC Honor Guard Pant Black P/W Install 1" stripe on side seams Hem pant to length	20	Each	No Bid	No Bid	\$134.50	\$2,690.00
134	Gerber Medix Parka with Warrior Liner, Style # 70MX1 with liner, sizes XS-XL regular no exceptions.	200	Each	No Bid	No Bid	\$278.00	\$55,600.00
135	Gerber Medix Parka with Warrior Liner, Style #70MX1 woth liner, sizes 2XL-4X regular, no exceptions	100	Each	No Bid	No Bid	\$278.00	\$27,800.00
136	Gerber Medix Parka with Warrior Liner, Style # 70MX1 with liner, sizes 5XL-6X regular, no exceptions.	50	Each	No Bid	No Bid	\$278.00	\$13,900.00
137	Gerber Medix Parka with Warrior Liner, Style # 70MX1 with liner, sizesM-XL long, no exceptions.	200	Each	No Bid	No Bid	\$278.00	\$55,600.00
138	Gerber Medix Parka with Warrior Liner, Style # 70MX1 with liner, sizes 2XL-4XL long, no exceptions.	100	Each	No Bid	No Bid	\$278.00	\$27,800.00
139	Gerber Medix Parka with Warrior Liner, Style # 70MX1 with liner, sizes 5XL-6XL long, no exceptions.	50	Each	No Bid	No Bid	\$278.00	\$13,900.00
140	Haix Black Eagle 55 Mid Side Zip, Style # 620012, Men's sizes 4-16 whole and half sizes, med, wide, and extra wide width, no exceptions	300	Each	No Bid	No Bid	\$297.05	\$89,115.00
141	Haix Black Eagle 55 Mid Side Zip, Style # 620013, Women's sizes 5- 12 whole and half sizes, med, wide, and extra wide width, no exceptions	100	Each	No Bid	No Bid	\$297.05	\$29,705.00



					MS FIRE RATUS	NORTH AMERICAN FIRE EQUIPMENT COMPANY, INC	
Item No.	Equipment	Estimated Quantity	Unit	Unit Price	Total Amount	Unit Price	Total Amount
142	Thorogood Station Boot, Style # 804-6133, Medium and Wide Sizes 4-12, 13, 14, 15, Composite Toe, Slip On Safety Shoe, No Exceptions	100	Each	No Bid	No Bid	\$96.00	\$9,600.00
143	Thorogood Station Boot, Style # 804-6134, Medium, Wide, and XWide Sizes 4-12, 13, 14, Composite Toe, 6 inch Slip On Safety Boot, No Exceptions	100	Each	No Bid	No Bid	\$99.00	\$9,900.00
	Thorogood Station Boot, Style # 804-6136, Medium and Wide Sizes 7- 12, 13, 14, Composite Toe, 10 inch Slip On Safety Boot, No Exceptions	100	Each	No Bid	No Bid	\$119.00	\$11,900.00
145	Thorogood Knockdown Elite Leather Fire Boot, Style # 804- 6389, No Exceptions	300	Each	No Bid	No Bid	\$440.00	\$132,000.00
146	Thorogood QR14 Leather Fire Boot, Style # 804-6369, (Brand/Style):	300	Each	No Bid	No Bid	\$350.00	\$105,000.00
147	Thorogood Hellfire Rubber Fire Boot, Style # 807-6003, No Exceptions	300	Each	No Bid	No Bid	\$175.00	\$52,500.00
148	Haix Fire Eagle Air, Style #507502, Men's Structural Firefighting Boots, Sizes 5-16 Narrow, Medium, and Wide	300	Each	No Bid	No Bid	\$434.00	\$130,200.00
149	Haix Fire Eagle Air, Style #507503, Ladies Structural Firefighting Boots, Sizes 5-10 Narrow, Medium, and Wide	100	Each	No Bid	No Bid	\$434.00	\$43,400.00
150	Haix Fire Hero Extreme, Style # 507101, Men's Structural Firefighting Boots, Sizes 5-16 Narrow, Medium, and Wide	300	Each	No Bid	No Bid	\$445.00	\$133,500.00
151	Haix Fire Hero Extreme, Style # 507102, Ladies Structural Firefighting Boots, Sizes 5-11 Narrow, Medium, and Wide	100	Each	No Bid	No Bid	\$445.00	\$44,500.00
152	Globe Supreme 14" Pull-On Structural Fire Fighting Boot Men's Full sizes 5-18 and Half Sizes 5 ½ - 15 1/12 in Narrow, Medium, wide, and X-wide widths	300	Each	No Bid	No Bid	No Bid	No Bid
153	Globe Supreme 14" Pull-On Structural Fire Fighting Boot Men's Full sizes 5-18 and Half Sizes 5 ½ - 15 1/12 in Narrow, Medium, wide, and X-wide widths	150	Each	No Bid	No Bid	No Bid	No Bid
154	Lion V Force Bi-Swing Coat, Style# CVBM-P8, Parallon liner, Sizes: 30 – 60. Lengths: 29, 32, 35, 38. Sleeve lengths: All Color: Natural, or Comparable. Description of Substitute:	100	Each	\$2,235.00	\$223,500.00	\$2,713.00	\$271,300.00
	Lion V Force Pant, Style# PVFM-P8, Parallon liner, Waist Sizes: 28 - 60, Inseams: All lengths. Color: Natural, or Comparable. Description of Substitute:	100	Each	\$1,664.00	\$166,400.00	\$1,982.00	\$198,200.00
	Lion V Force Bi-Swing Coat, Style# CVBM-P8, Parallon liner, Sizes: 30 – 60. Lengths: 29, 32, 35, 38. Sleeve lengths: All Color: Black, or Comparable. Description of Substitute:	25	Each	\$2,374.00	\$59,350.00	\$2,713.00	\$67,825.00



	BID TABULATI				MS FIRE RATUS		ERICAN FIRE COMPANY, INC	
Item No.	Equipment	Estimated Quantity	Unit	Unit Price	Total Amount	Unit Price	Total Amount	
157	Lion V Force Pant, Style# PVFM-P8, Parallon liner Waist Sizes: 28 - 60, Inseams: All lengths. Color: Black, or Comparable. Description of Substitute:	25	Each	\$1,721.00	\$43,025.00	\$1,982.00	\$49,550.00	
158	Lion V Force Bi-Swing Coat, Style# CVBM-C7, center cut liner, Sizes: 30 – 60. Lengths: 29, 32, 35, 38. Sleeve lengths: All Color: Natural, or Comparable. Description of Substitute:	400	Each	\$2,082.00	\$832,800.00	\$2,484.00	\$993,600.00	
159	Lion V Force Pant, Style# PVFM-C7, center cut liner, Waist Sizes: 28 - 60, Inseams: All lengths. Color: Natural, or Comparable. Description of Substitute:	400	Each	\$1,574.00	\$629,600.00	\$1,815.00	\$726,000.00	
160	Lion V Force Bi-Swing Coat, Style# CVBM-C7, center cut liner, Sizes: 30 – 60. Lengths: 29, 32, 35, 38. Sleeve lengths: All Color: Black, or Comparable. Description of Substitute:	25	Each	\$2,210.00	\$55,250.00	\$2,484.00	\$62,100.00	
161	Lion V Force Pant, Style# PVFM-C7, center cut liner Waist Sizes: 28 - 60, Inseams: All lengths. Color: Black, or Comparable. Description of Substitute:	25	Each	\$1,626.00	\$40,650.00	\$1,815.00	\$45,375.00	
162	Lions EZ H-Back Suspenders, Quick Adjust, non-stretch, Sizes: Small – 2XL, Color: Navy, or Comparable. Description of Substitute:	700	Each	\$70.00	\$49,000.00	\$43.00	\$30,100.00	
163	VIKING Fire Retardant / Particle protection Fire Hood Style VP- PS3838	500	Each	No Bid	No Bid	No Bid	No Bid	
164	Particulate Blocking Nomex Fire Hood / with Gore membrane. Style# NB-Gore	1000	Each	No Bid	No Bid	\$110.00	\$110,000.00	
165	BarriAire Gold Particulate Blocking Hood, Style # 39708- 00-194071, Elite Pro Comprehensive Coverage, Dupont Nomex Nano Flex, Particulate Blocking Hood	1000	Each	No Bid	No Bid	\$117.00	\$117,000.00	
166	BarriAire Silver Particulate Blocking Hood, Style # 39707- 00- 169093, Comprehensive Coverage, Dupont Nomex Nano Flex, Particulate Blocking Hood	1000	Each	No Bid	No Bid	\$125.00	\$125,000.00	
167	Lion Primus Firefighter Glove, Style # LPG 955. Sizes: Standard 2XS – 4XL Color: Standard, no substitutes.	1200	Each	No Bid	No Bid	\$135.00	\$162,000.00	
168	Dragon Fire X2 Structural Fire Fighting Glove Sizes: Standard- 2XS, XS, S, M, L, XL, 2XL	350	Each	No Bid	No Bid	\$90.00	\$31,500.00	
169	Dragon Fire X2 Structural Fire Fighting Glove Sizes: Standard- 3XL, 4XL	100	Each	No Bid	No Bid	\$90.00	\$9,000.00	
170	Dragon Fire X2 Structural Fire Fighting Glove Sizes: Shorter Fingers / Cadet – 2XS, XS, S, M, L, XL, 2XL	350	Each	No Bid	No Bid	\$90.00	\$31,500.00	
171	Dragon Fire X2 Structural Fire Fighting Glove Sizes: Shorter Fingers / Cadet – 3XL	100	Each	No Bid	No Bid	\$90.00	\$9,000.00	



	BID TABULATI				MS FIRE RATUS		ERICAN FIRE COMPANY, INC	
Item No.	Equipment	Estimated Quantity	Unit	Unit Price	Total Amount	Unit Price	Total Amount	
172	Dragon Fire X2S Structural Fire Fighting Glove Sizes: Standard- 2XS, XS, S, M, L, XL, 2XL	250	Each	No Bid	No Bid	\$104.00	\$26,000.00	
173	Dragon Fire X2S Structural Fire Fighting Glove Sizes: Standard- 3XL, 4XL	80	Each	No Bid	No Bid	\$104.00	\$8,320.00	
174	Dragon Fire X2S Structural Fire Fighting Glove Sizes: Shorter Fingers / Cadet – 2XS, XS, S, M, L, XL, 2XL	250	Each	No Bid	No Bid	\$104.00	\$26,000.00	
175	Dragon Fire X2S Structural Fire Fighting Glove Sizes: Shorter Fingers / Cadet - 3XL	80	Each	No Bid	No Bid	\$104.00	\$8,320.00	
176	Lion American Legend X Structural Fire Fighting helmet, Product # LFH8120S, with ESS goggles, Size: Adjustable, Color: Yellow, no substitutes.	50	Each	No Bid	No Bid	\$385.00	\$19,250.00	
177	Lion American Legend X Structural Fire Fighting helmet, Product # LFH8120S, with ESS goggles, Size: Adjustable, Color: Black, no substitutes.	200	Each	No Bid	No Bid	\$385.00	\$77,000.00	
178	Lion American Legend X Structural Fire Fighting helmet, Product # LFH8120S, with ESS goggles, Size: Adjustable, Color: Red, no substitutes.	100	Each	No Bid	No Bid	\$385.00	\$38,500.00	
179	Lion American Legend X Structural Fire Fighting helmet, Product # LFH8120S, with ESS goggles, Size: Adjustable, Color: White, no substitutes.	25	Each	No Bid	No Bid	\$385.00	\$9,625.00	
180	Hanover Leather Company helmet shield, Passport system. Shields shall be in Black, Red or Orange. Inserts shall be black or white. Or comparable Description of Substitute:	200	Each	No Bid	No Bid	\$43.75	\$8,750.00	
181	Hanover Leather Company helmet shield, leather numeral insert for Passport system. Numerals shall be Black, white or Red, with black or what backgrounds. or comparable. Description of Substitute:	200	Each	No Bid	No Bid	\$16.25	\$3,250.00	
182	Gold Leaf Fire Marshal 2 Crossed Bugles Helmet Shield, Goldshield- 1233951	5	Each	No Bid	No Bid	\$125.00	\$625.00	
183	Gold Leaf Battalion Chief 2 Crossed Bugles, Helmet Shield Goldshield-1233951	30	Each	No Bid	No Bid	\$125.00	\$3,750.00	
184	Gold Leaf Assistant Chief 3 Crossed Bugles, Helmet Shield Goldshield-1233951	20	Each	No Bid	No Bid	\$125.00	\$2,500.00	
185	Gold Leaf Deputy Chief 4 Crossed Bugles, Helmet Shield Goldshield- 1233951	20	Each	No Bid	No Bid	\$125.00	\$2,500.00	
186	Gold Leaf Fire Chief 5 Crossed Bugles, Helmet Shield Goldshield- 1233951	5	Each	No Bid	No Bid	\$125.00	\$625.00	
187	Flexfit Adult Ultrafibre and Airmesh Baseball Cap 6533; New DeKalb Logo; Sizes S/M & L/XL (Colors blue or Black)	550	Each	No Bid	No Bid	\$16.73	\$9,201.50	



	BID TABULATION				MS FIRE RATUS	NORTH AMERICAN FIR EQUIPMENT COMPANY,		
Item No.	Equipment	Estimated Quantity	Unit	Unit Price	Total Amount	Unit Price	Total Amount	
188	Fire-Dex USAR (Urban Search & Rescue) Coat Style # MEST51USAR, 6.5 oz TECGEN51, Navy Blue, XC40 Zipper / Woven Hook and Loop, 3" NFPA Standard Scotch LiteTM Triple Red/Silver	700	Each	\$943.00	\$660,100.00	No Bid	No Bid	
189	Fire-Dex USAR (Urban Search & Rescue) Pant Style # MEST51USAR-Pant, 6.5 oz TECGEN51 - Navy Blue, XC40 Zipper / Woven Hook and Loop, 3" around cuffs - Scotch Lite™ Triple Red/Silver	700	Each	\$711.00	\$497,700.00	No Bid	No Bid	
190	Nissin Suit Bags Item# 6050	20	Each	No Bid	No Bid	\$65.87	\$1,317.40	
191	Leather Work Gloves, Cowhide, Condor Brand or Comparable, Color: Tan or Beige, All Sizes	2000	Each	\$15.00	\$30,000.00	\$15.00	\$30,000.00	
192	Safety Glasses, Traditional Half Frame, Condor Brand or Comparable.	1000	Each	\$7.00	\$7,000.00	\$7.00	\$7,000.00	
193	ANSI 207-2006 Class 2 5 Point Breakaway Safety Vest, Hi Vis Yellow Only, 2 Inch Silver / Hi Vis Orange Heat Transferred Trim, Front Zipper, "DeKalb County Fire Rescue" in 1 Inch Red Lettering, Sizes Small through 6XL.	300	Each	No Bid	No Bid	\$55.00	\$16,500.00	
194	Brave DeKalb Metal Shirt Badge, Shell Back, GA w/ rank & seal; Gol- Ray, Antique Eagle & Brave DeKalb panel only; A4262024; N181 Dekalb Fire	130	Each	No Bid	No Bid	\$117.00	\$15,210.00	
195	Left Chest Badge patch, PARAMEDIC, EMS Division, Caduceus Center Emblem all embroidered no substitutes, (AEMT, EMT and Paramedic), all embroidered no substitutes.	300	Each	No Bid	No Bid	\$2.77	\$831.00	
196	Left Chest Badge patch, Fire Chief, all embroidered no substitutes.	15	Each	No Bid	No Bid	\$1.67	\$25.05	
197	Left Chest Badge patch, Deputy Chief, all embroidered no substitutes.	25	Each	No Bid	No Bid	\$1.67	\$41.75	
198	Left Chest Badge patch, Assistant Chief, all embroidered no substitutes.	25	Each	No Bid	No Bid	\$1.67	\$41.75	
199	Left Chest Badge patch, Battalion Chief, all embroidered no substitutes.	50	Each	No Bid	No Bid	\$1.67	\$83.50	
200	Left Chest Badge patch, Fire Captain, all embroidered no substitutes.	500	Each	No Bid	No Bid	\$1.67	\$835.00	
201	Left Chest Badge patch, Rescue Captain, all embroidered no substitutes.	50	Each	No Bid	No Bid	\$1.67	\$83.50	
202	Left Chest Badge patch, Driver Operator, all embroidered no substitutes.	500	Each	No Bid	No Bid	\$1.67	\$835.00	
203	Left Chest Badge patch, Firefighter, all embroidered no substitutes.	1000	Each	No Bid	No Bid	\$1.67	\$1,670.00	



					MS FIRE RATUS	NORTH AMERICAN FIRE EQUIPMENT COMPANY, INC		
Item No.	Equipment	Estimated Quantity	Unit	Unit Price	Total Amount	Unit Price	Total Amount	
204	Collar Insignia Patch, 2 Crossed Bugles in gold embroidery. Background: navy no substitutes.	100	Each	No Bid	No Bid	\$0.86	\$86.00	
205	Collar Insignia Patch, 2 Parallel Bars in gold embroidery. Background: navy no substitutes.	50	Each	No Bid	No Bid	\$0.86	\$43.00	
206	Collar Insignia Patch, 2 Parallel Bugles in gold embroidery. Background: navy no substitutes.	200	Each	No Bid	No Bid	\$0.86	\$172.00	
207	Collar Insignia Patch, 3 Crossed Bugles in gold embroidery. Background: navy no substitutes.	50	Each	No Bid	No Bid	\$0.86	\$43.00	
208	Collar Insignia Patch, 4 Crossed Bugles in gold embroidery. Background: navy no substitutes.	25	Each	No Bid	No Bid	\$1.07	\$26.75	
209	Collar Insignia Patch, 5 Crossed Bugles in gold embroidery. Background: navy no substitutes.	15	Each	No Bid	No Bid	\$0.86	\$12.90	
210	Collar Insignia Patch, Corporal (Senior Firefighter) in gold embroidery. Background: navy, no substitutes.	1000	Each	No Bid	No Bid	\$0.74	\$740.00	
211	Collar Insignia Patch, Private (Firefighter) in gold embroidery. Background: navy, no substitutes.	1000	Each	No Bid	No Bid	\$0.74	\$740.00	
212	Collar Insignia Patch, Sargent (Master Firefighter) in gold embroidery. Background: navy no substitutes.	1000	Each	No Bid	No Bid	\$0.74	\$740.00	
213	Fire Driver Steamer Collar Insignia Patch, Color: Navy, no substitutes.	500	Each	No Bid	No Bid	\$0.74	\$370.00	
214	Paramedic Caduceus Collar Insignia Patch, Color: Navy, no substitutes.	200	Each	No Bid	No Bid	\$0.86	\$172.00	
215	ELC Two Color Shoulder Cord Item# N2142A-L No substitute	20	Each	No Bid	No Bid	\$45.00	\$900.00	
216	ELC Two Color Shoulder Cord Item# N2152L No substitute	20	Each	No Bid	No Bid	\$45.00	\$900.00	
217	Maltese Cross for Dress Coat Emblem, One Cross, no substitutes.	25	Each	No Bid	No Bid	\$1.00	\$25.00	
218	Maltese Cross for Dress Coat Emblem, Two Crosses, no substitutes.	25	Each	No Bid	No Bid	\$1.00	\$25.00	
219	Maltese Cross for Dress Coat Emblem, Three Crosses, no substitutes.	25	Each	No Bid	No Bid	\$1.50	\$37.50	
220	Maltese Cross for Dress Coat Emblem, Four Crosses, no substitutes.	25	Each	No Bid	No Bid	\$2.00	\$50.00	
221	Maltese Cross for Dress Coat Emblem, Five Crosses, no substitutes.	25	Each	No Bid	No Bid	\$2.50	\$62.50	



					MS FIRE RATUS	NORTH AMERICAN FIRE EQUIPMENT COMPANY, INC		
Item No.	Equipment	Estimated Quantity	Unit	Unit Price	Total Amount	Unit Price	Total Amount	
222	Maltese Cross for Dress Coat Emblem, Six Crosses, no substitutes.	10	Each	No Bid	No Bid	\$3.00	\$30.00	
223	Name Strip Patch – 1 line. Nylon background, navy with Gold embroidery, 2 lines, no substitutes.	500	Each	No Bid	No Bid	\$6.50	\$3,250.00	
224	Name Strip Patch - 1 line Fire resistant (FR) background, navy with Gold embroidery, no substitutes.	1000	Each	No Bid	No Bid	\$6.50	\$6,500.00	
225	Arson Patch	50	Each	No Bid	No Bid	\$4.12	\$206.00	
226	Battalion 1 Patch	50	Each	No Bid	No Bid	\$3.26	\$163.00	
227	Battalion 2 Patch	50	Each	No Bid	No Bid	\$3.26	\$163.00	
228	Battalion 3 Patch	50	Each	No Bid	No Bid	\$3.26	\$163.00	
229	Battalion 4 Patch	50	Each	No Bid	No Bid	\$3.26	\$163.00	
230	Battalion 5 Patch	50	Each	No Bid	No Bid	\$3.26	\$163.00	
231	Battalion 6 Patch (Currently no picture available)	50	Each	No Bid	No Bid	\$3.26	\$163.00	
232	Car 7 Patch	30	Each	No Bid	No Bid	\$6.58	\$197.40	
233	Company 1 Station Patch	100	Each	No Bid	No Bid	\$2.93	\$293.00	
234	Company 2 Station Patch	100	Each	No Bid	No Bid	\$3.70	\$370.00	
235	Company 3 Station Patch	100	Each	No Bid	No Bid	\$3.20	\$320.00	
236	Company 4 Station Patch	100	Each	No Bid	No Bid	\$3.20	\$320.00	
237	Company 5 Station Patch	100	Each	No Bid	No Bid	\$3.70	\$370.00	
238	Company 6 Station Patch	100	Each	No Bid	No Bid	\$3.20	\$320.00	
239	Company 7 Station Patch	100	Each	No Bid	No Bid	\$3.20	\$320.00	



					MS FIRE RATUS	NORTH AMERICAN FIRE EQUIPMENT COMPANY, INC		
Item No.	Equipment	Estimated Quantity	Unit	Unit Price	Total Amount	Unit Price	Total Amount	
240	Company 8 Station Patch	100	Each	No Bid	No Bid	\$3.70	\$370.00	
241	Company 9 Station Patch	100	Each	No Bid	No Bid	\$3.80	\$380.00	
242	Company 10 Station Patch	100	Each	No Bid	No Bid	\$3.70	\$370.00	
243	Company 11 Station Patch	100	Each	No Bid	No Bid	\$3.20	\$320.00	
244	Company 12 Station Patch	100	Each	No Bid	No Bid	\$3.70	\$370.00	
245	Company 13 Station Patch	100	Each	No Bid	No Bid	\$3.20	\$320.00	
246	Company 14 Station Patch	100	Each	No Bid	No Bid	\$3.20	\$320.00	
247	Company 15 Station Patch	100	Each	No Bid	No Bid	\$3.20	\$320.00	
248	Company 16 Station Patch	100	Each	No Bid	No Bid	\$3.70	\$370.00	
249	Company 17 Station Patch	100	Each	No Bid	No Bid	\$3.70	\$370.00	
250	Company 18 Station Patch	100	Each	No Bid	No Bid	\$3.20	\$320.00	
251	Company 19 Station Patch	100	Each	No Bid	No Bid	\$4.12	\$412.00	
252	Company 20 Station Patch	100	Each	No Bid	No Bid	\$3.17	\$317.00	
253	Company 21 Station Patch	100	Each	No Bid	No Bid	\$4.12	\$412.00	
254	Company 22 Station Patch	100	Each	No Bid	No Bid	\$4.12	\$412.00	
255	Company 23 Station Patch	100	Each	No Bid	No Bid	\$3.20	\$320.00	
256	Company 24 Station Patch	100	Each	No Bid	No Bid	\$4.14	\$414.00	
257	Company 25 Station Patch	100	Each	No Bid	No Bid	\$3.20	\$320.00	



BID TABULATIO				WILLIA APPA		ERICAN FIRE COMPANY, INC		
Item No.	Equipment	Estimated Quantity	Unit	Unit Price	Total Amount	Unit Price		Total Amount
258	Company 26 Station Patch	100	Each	No Bid	No Bid	\$3.70		\$370.00
259	Department Hat Patch, no substitutes.	1000	Each	No Bid	No Bid	\$1.80		\$1,800.00
260	Department Patch, no substitutes.	1000	Each	No Bid	No Bid	\$3.04		\$3,040.00
261	Dress Coat Emblem/Patch, no substitutes (for Class A Uniform Gold Thread).	1000	Each	No Bid	No Bid	\$3.46		\$3,460.00
262	EMS Patch	200	Each	No Bid	No Bid	\$3.70		\$740.00
263	Support / Fiscal Services Patch	50	Each	No Bid	No Bid	\$4.54		\$227.00
264	Training Division Patch	100	Each	No Bid	No Bid	\$3.67		\$367.00
265	Department Sleeve Patch, Honor Guard no substitutes.	60	Each	No Bid	No Bid	\$7.07		\$424.20
266	Department Sleeve Patch with medical certification (Paramedic, AEMT, EMT-B, EMT-I, AEMT), no substitutes.	5000	Each	No Bid	No Bid	\$3.50		\$17,500.00
267	Paramedic (PMDC) round colar insignia	800	Each	No Bid	No Bid	\$0.86		\$688.00
268	EMT round colar insiginia	800	Each	No Bid	No Bid	\$0	.86	\$688.00
	Total Amount for Line Items Bid:				\$3,294,375.00			\$8,270,433.63
	Items listed in the annual catalog for the following brands will be available	able for pur	rchase on t	his contract at '	% below retail co	ost.		
	RedKap	% belo	w retail	No	Bid		5	%
	Sandmar	% belo	w retail	No	Bid			%
	Flying Cross	% belo	w retail	No Bid		51		%
	5.11	% belo	w retail	No	Bid	5%		%
	KC Caps	% below	w retail	No	Bid	5%		%

INVITATION TO BID NO. 25-100065 ITB NAME: UNIFORMS FOR FIRE RESCUE SERVICES



BID OPENING: April 23, 2025 PRICE OPENING: July 9, 2025 AGENT: Toneya B. Dawson

	BID TABULATION			WILLIAMS FIRE APPARATUS			ERICAN FIRE COMPANY, INC	
Item No. Equipment	Estimated Quantity	I Unit I Unit Price I Total Amount I Unit Price I T						
Alphabroder	% below	% below retail No Bid				5	%	
Propper	% belov	% below retail No Bid				5	%	
Number of Bids Received:				2				
Separate Sealed Price Schedule:				Yes				
Attendance at the Mandatory LSBE Meeting (Yes/No)				N/A				
LSBE Participation Benchmark / GFE: waived per Section 2-206 (f)								
Notes - Detail Justification: Recommend award to the lowest, responsive, and responsible bidders: Item Nos.: 1-77, 79-125, 127-151, 154-162, 164-187, 190-268 NAFECO, 715 Park North Blvd., Clarkston, GA 30021								
Item Nos.: 188-189 Williams Fire Apparatus, 778 Idaho Rd., Ashland, Alabama, 36251								
WITNESS SIGNATURE:								
AGENT SIGNATURE:								